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Fractional Subdivision of T. 4% N., R. 18 E.

|
s
! soil is very rocky, and entirely unfit for cultivation.
| There is some sage brush and bunch grass. No timber.
Fnowing that a line run to the cor. of secs. 7 and 18 on
the E. bdy. of the Tp. will deviate from true Xast by E
:‘ .| - more than 21', I run
East, on a true line, between secs. 12 and 13.
; Cver mountainous land.
| {Asc. 200 ft, on NW. slope to top of ridge. |
» 22,00 | A ridge, bears N, and S.; desc. 30 ft. on NE. slope, |
40.00 | At the point for the % sec. cor. I find a cor. set by i
transdtman Archer3 and, as this is 2 satisfactory cor. i
- I accent it as the % sec..cor. It is an iron post, 1 E
‘

¢ in. diam., projecting 10 ins.. above a mound of stone,

firmly set, with brass cap mkd.
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with a mound of stone, 38 in. base, 28 Ins. high, N. ofé
the cdr. |
% Ll ,00 | Foot of descent; asc.  200-ft. on NW.-slope to top of i
ridge.:

70,00 | A ridge, bears N. 75° E. and S. 75° W.; desc. 80 ft. on
! . NE. slope. r g

76.00 |Foot of deseent; leave mountainous, enter rolling, land,

|

| | bears NE. and SW, : |
{ ‘
|

|

' 79.57 | Intersect the E, bdy. of the  Tp. at a point 5. 1° 35' W.,i
1.60 chs;,from the cor. of sees. 7 and 18, heretofore
deseribed. - At the  point of intersection I find a cor. i
set by transitman Archer, and, as this is a satisfact-
ory cor., I-accept it as the C. C. of secs. 12 and 1l3. E

It is an iron post, 2 ins. diam., firmly set in a

mound of stone, with brass cap mkd,




